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Length – 2 

1. Convert 65 m into km. 

a) 0.65 km      b) 6.5 km 

c) 0.56 km      d) 0.065 km 

2. Add 231 km 45 m with 49 km 780 m 

a) 280 km 528 m     b) 280 km 825 m 

c) 825 km 280 m     d) None of these  

3. John walked 2 km 475 m on Monday, 3 km 845 m Tuesday and 5 km 25 m on Wednesday. Total how 

much distance did he cover in these 3 days. 

a) 11345 m     b) 12345 m 

c) 11 km 345 m     d) Both A & B 

4. A temple is 7 m 68 cm taller than a building. If the height of the building is 24 m 30 cm, then what is 

the total height of temple and building? 

a) 58 m 26 cm     b) 56 m 28 cm 

c) 156 m 28 cm     d) 58 m 28 cm 

5. Subtract 82 km 56 m from 325 km. 

a) 252 km 944 m     b) 242 km 499 m 

c) 242 km 944 m     d) 242 km 944 cm 

6. Bob is living 35 km 575 m away from his college. Every day he walks 2 km 64 m to the nearest railway 

station and travel 22 km in train. Rest distance he covered by bus. How much distance did he cover by 

bus? 

a) 11 km 611 m     b) 11 km 711 m 

c) 11 km 511 m     d) None of these 

7. John covered 345 km 780 m by car and 25 km 650 m by bus. Bob covered 267 km 124 m by train and 

56 km by bus. How much distance John covered more than Bob? 

a) 48 km 306 m     b) 58 km 603 m 

c) 84 km 306 m     d) 48 km 36 m 

8. Multiply 26 cm 5 mm by 4 

a) 160 cm      b) 106 cm 

c) 106 cm 4 mm     d) 206 cm 
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9. Multiply 12 km 64 m by 3 

a) 36 km 192 m     b) 36 km 129 m 

c) 63 km 129 m     d) 36 km 921 m 

10. A bike goes 45 km 832 m in 1 hour. How much distance it will cover in 6 hours? 

a) 274 km 929 m     b) 274 km  992 m 

c) 247 km 992 m     d) None of these 

 


